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Dependent – y values (RANGE) 
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Continuous or discontinuous? 								Continuous or discontinuous? 
							
What is the domain (independent)?							 What is the domain (independent)?


What is the range (dependent)? 									 
											What is the range (dependent)? 

What is the relative max? 								 **Function or not a function? Remember, if the X-VALUE repeats, it is NOT A FUNCTION!
		These are called mappings – they map one value onto the other
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What is the relative min? 



Increasing intervals: 	



Decreasing intervals: 
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3.7 To Function or Not to Function
A Practice Understanding Task

Identify the two variables for each situation and determine which is independent and which
is dependent. Then, determine if the relationship is a function and justify your reasoning.
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T4, 1rx 153 rational number,
then ()= 1

Ifxis an irational number,
thenf(x) =0

T5. The national debt with
respect to time.
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T3 The explcit formula for
the recursive situation below:
(1) =3and

s 1)=Mn) + 4
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T2 The length of fence needed
with respect to the amount of
rectangular area to be
enclosed.
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T0.The size o the radius of 2
circle dependent on the area.

T Students letter grade
dependent on the percent
carned.
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7.Theareaofacircleasit | 8. 9. The volume of water ina
relates to te radius. given cylinder s dependent on
3 the helght of water in cylinder.





